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package comidojo.nnerclasses:
public class HelloAnonymous {

public statc void main(Stringl] rgs)
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Evolution Classes vers LAmbdas
package com.stage.annotations;
import java.security. MessageDigest;
import java.security NoSuchAlgorithmexception;
import java.util.*;
import java.utilfunction.;
import java.utilstream. Collectors;
import java.utilstream Stream;
public class Main {
public static int mygen()
{

return 0;

b
public static void process( Integer integer )
System.out printin(*4) +integer);

public static void main( String(] args )
¢
List<lnteger> numbers = List.of(1, 2, 4,3, 5)

"y
numbers stream().peek( new Displayer();

72):
b

new C «
@0verride

public void accept(integer integer) {
System.out.printin('2) “+integer);

»
)toArray();
"3):

b (integer) > { ("3) "+integer) ). toArray);
na

b (integer) > Main )toArray();
nay:
numbers.stream().peek( (integer) -> System.out printin("4) "+integen) LtoArray(;
numbers stream()

map(i-> "4\ +i)

peek( System.out:printin)

toArTay();

package com.stage.annotations;
import java.util.function.Consumer;

public class Displayer implements Consumer<integer>
{
@Override
public void accept(Integer integer) {
System.out.printin("1) "+integer);



